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1. The range of the data 15, 18, 17, 16, 14, x, 12, 10, 9, 15
is 9. Which of the following is true about x ?
(a) x > 18 (b) x < 9
(c) 9   x   18 (d) 9 < x < 18

2. If the mean of 9, 10, 15, x, 6, 8 and 12 is 11, then the
median of the scores.
(a) 4 (b) 10
(c) 13 (d) 5

3. The mode of the data 9, x, 6, 3, 4, 9, 8, 6, 4, 6 is 6.
Which of the following cannot be the value of x?
(a) 8 (b) 7
(c) 6 (d) 9

4. In a pie chart, the central angle of a component is 72°
and its value is 24. Find the total value of all the
components of the data.
(a) 240 (b) 120
(c) 360 (d) 420

1. MsVk 15, 18, 17, 16, 14, x, 12, 10, 9, 15 dh lhek 9 gSA x ds
ckjs esa fuEufyf[kr esa ls dkSu lk lR; gS\
(a) x > 18 (b) x < 9
(c) 9   x   18 (d) 9 < x < 18

2. ;fn 9, 10, 15, x, 6, 8 vkSj 12 dk ekè; 11 gS] rks vadksa dk
ekfè;dk D;k gS \
(a) 4 (b) 10
(c) 13 (d) 5

3. MsVk 9, x, 6, 3, 4, 9, 8, 6, 4, 6 dk cgqyd 6 gSA fuEufyf[kr
esa ls dkSu lk x dk eku ugÈ gks ldrk gS\
(a) 8 (b) 7
(c) 6 (d) 9

4. ,d ikÃ pkVZ esa] ,d ?kVd dk dsaæh; dks.k 72° gS vkSj bldk
eku 24 gSA MsVk ds lHkh ?kVdksa dk dqy eku Kkr djsaA

(a) 240 (b) 120
(c) 360 (d) 420

MATHS
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5. Solve for y: 3(y - 4) - 5(y + 5) = -21
(a) -4 (b) -7
(c) -3 (d) -8

6. If x = 10, then 0.2x + 0.2 = ___.
(a) 12.2 (b) 10.2
(c) 2.2 (d) 22

7. If 9.1x + 3x + 1.9 x   42, then x   ___.
(a) 1 (b) 3
(c) 5 (d) 4

8. Solve for x: 12x - 7 = 7x - 13
(a) -1.2 (b) -1.6
(c) -1.8 (d) -1.4

9. The sum of the measures of the interior angles of a
polygon is 540°. Find the number of sides of the
polygon.
(a) 8 (b) 7
(c) 6 (d) 5

10. The measure of one of the exterior angles of a tri-
angle is 100°. Which of the following is definitely the
measure of one of the interior angles of that triangle?
(a) 50° (b) 60°
(c) 70° (d) 80°

11. One angle of a parallelogram is 30° more than twice
its adjacent angles. Find the measure of its adjacent
angle.
(a) 50° (b) 60°
(c) 70° (d) 80°

12. Which of the following statements is definitely true?
(a) In a rhombus, the diagonals are equal.
(b) In an isosceles trapezium, the diagonals bisect
each other.
(c) In a kite, the diagonals are perpendicular to each
other.
(d) In a trapezium on pair of opposite sides are parallel
to each other

5. y ds fy, gy djsa% 3(y - 4) - 5(y + 5) = -21
(a) -4 (b) -7
(c) -3 (d) -8

6. ;fn x = 10 gS] rks 0.2x + 0.2 = ----------
(a) 12.2 (b) 10.2
(c) 2.2 (d) 22

7. ;fn 9.1x + 3x + 1.9 x   42 gS] rks x   -------------
(a) 1 (b) 3
(c) 5 (d) 4

8. x ds fy, gy djsa% 12x - 7 = 7x - 13
(a) -1.2 (b) -1.6
(c) -1.8 (d) -1.4

9. ,d cgqHkqt ds vkarfjd dks.kksa ds ekiksa dk ;ksx 540° gSA
cgqHkqt dh Hkqtkvksa dh la[;k Kkr dhft,A

(a) 8 (b) 7
(c) 6 (d) 5

10. ,d f=Hkqt ds ckgjh dks.kksa esa ls ,d dk eki 100° gSA
fuEufyf[kr esa ls dkSu lk fuf'pr :i ls ml f=Hkqt ds
vkarfjd dks.kksa esa ls ,d dk eki gS\
(a) 50° (b) 60°
(c) 70° (d) 80°

11. ,d lekarj prqHkqZt dk ,d dks.k mlds vklUu dks.kksa ds
nksxqus ls 30° vfèkd gSA blds vklUu dks.k dk eki Kkr
dhft,A
(a) 50° (b) 60°
(c) 70° (d) 80°

12. fuEufyf[kr esa ls dkSu lk dFku fuf'pr :i ls lR; gS \
(a) leprqHkqZt esa fod.kZ cjkcj gksrs gSaA
(b) lef}ckgq leyEc esa fod.kZ ,d nwljs dks lef}Hkkftr
djrs gSaA
(c) irax esa fod.kZ ,d nwljs ds yacor gksrs gSaA

(d) leyEc prqHkqZt esa foijhr Hkqtkvksa ds tksM+s ,d nwljs ds
lekukarj gksrs gSa
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13. Find the number of sides of a regular polygon, if the
measure of each of its interior angles is 150°.
(a) 12 (b) 10
(c) 8 (d) 6

14. The measure of one of the angles of an isosceles
triangle is 94°. Which of the following is definitely
the measure of one of the other angles of the given
triangle ?
(a) 94° (b) 86°
(c) 43° (d) 46°

15. Which of the following statements is true ?
(a) Every trapezium is a parallelogram.
(b) Every square is a rhombus.
(c) Every rectangle is a square.
(d) Every parallelogram is a rectangle.

16. One angle of a parallelogram is thrice its adjacent
angle. Which of the following is one of its angles ?
(a) 30° (b) 45°
(c) 120° (d) 100°

17. A is an obtuse angle. The measure of  A and twice
its supplement differ by 30°. Then  A can be
(a) 150° (b) 110°
(c) 140° (d) 120°

18. Which of the following is the set of measures of the
sides a triangle ?
(a) 8 cm, 4 cm, 20 cm (b) 9 cm, 17 cm, 25 cm
(c) 11 cm, 16 cm, 28 cm (d) 6 cm, 7 cm, 12 cm

19. In which of the following cases, a right triangle cannot
be constructed ?
(a) 12 cm, 5 cm, 13 cm (b) 8 cm, 6 cm, 10 cm
(c) 5 cm, 9 cm, 11 cm (d) 9 cm, 40 cm, 41 cm

20. One pair of opposite angles of a parallelogramis
(2x - 50°, x + 20°). Then the parallelogram neces-sarily
is _________.
(a) a rhombus (b) a square
(c) a rectangle (d) a trapezium

13. ,d le cgqHkqt dh Hkqtkvksa dh la[;k Kkr dhft,] ;fn
blds çR;sd vkarfjd dks.k dk eki 150° gSA
(a) 12 (b) 10
(c) 8 (d) 6

14. ,d lef}ckgq f=Hkqt ds ,d dks.k dk eki 94° gSA fuEufyf[kr
esa ls dkSu lk fuf'pr :i ls fn, x, f=Hkqt ds vU; dks.kksa
esa ls ,d dk eki gS \
(a) 94° (b) 86°
(c) 43° (d) 46°

15. fuEufyf[kr esa ls dkSu lk dFku lR; gS \
(a) çR;sd leyEc prqHkqZt ,d lekarj prqHkqZt gksrk gSA
(b) çR;sd oxZ ,d leprqHkqZt gksrk gSA
(c) çR;sd vk;r ,d oxZ gksrk gSA
(d) çR;sd lekarj prqHkqZt ,d vk;r gksrk gSA

16. lekarj prqHkqZt dk ,d dks.k mlds vklUu dks.k dk frxquk
gksrk gSA fuEufyf[kr esa ls dkSu lk bldk ,d dks.k gS\
(a) 30° (b) 45°
(c) 120° (d) 100°

17. A ,d vfèkd dks.k gSA  A vkSj mlds iwjd ds nksxqus eki esa
30° dk varj gSA rks  A gks ldrk gS
(a) 150° (b) 110°
(c) 140° (d) 120°

18. fuEufyf[kr esa ls dkSu lk f=Hkqt dh Hkqtkvksa ds ekiksa dk lewg
gS \
(a) 8 lseh] 4 lseh] 20 lseh (b) 9 lseh] 17 lseh] 25 lseh
(c) 11 lseh] 16 lseh] 28 lseh (d) 6 lseh] 7 lseh] 12 lseh

19. fuEufyf[kr esa ls fdl fLFkfr esa ledks.k f=Hkqt dk fuekZ.k
ugÈ fd;k tk ldrk gS \
(a) 12 lseh] 5 lseh] 13 lseh (b) 8 lseh] 6 lseh] 10 lseh
(c) 5 lseh] 9 lseh] 11 lseh (d) 9 lseh] 40 lseh] 41 lseh

20. lekarj prqHkqZt ds foijhr dks.kksa dh ,d tksM+h (2x - 50°, x +
20°) gSA rks lekarj prqHkqZt vko';d :i ls ------------ gksxkA

(a) ,d leprqHkqZt (b) ,d oxZ
(c) ,d vk;r (d) ,d leyEc prqHkqZt
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21. In  ABC, if  A = 60°,  B = 50°, and  C = 70°, then
find the longest side of the triangle ABC.
(a) BC (b) AB
(c) AC (d) None of these

22. Which of the following is the largest?

(a) 
2

3
(b) 

4

7

(c) 
3

5
(d) 

1

15

23. The total strength of a class is 36 students. If three-
fourth of the students is taking an examination from
the class, then how many students are not taking the
examination?
(a) 9 (b) 12
(c) 24 (d) 27

24. Mr Perfect earns rupees 54000 per month. He spends

2

15
 of his earnings on house rent, 

4

9
 of his earn-ings

on other household items and saves the remaining.
What fraction of amount is the savings in his earnings?

(a) 
19

45
(b) 

17

45

(c) 
13

24
(d) 

11

25

25. A water bottle is 
3

5
 full and 

1

7
 of the water is drawn.

How much water is remaining in the bottle ?

(a) 
16

35
(b) 

17

35

(c) 
8

17
(d) 

2

35

21.  ABC esa] ;fn A = 60°,  B = 50°, vkSj  C = 70° gS] rks
f=Hkqt ABC dh lcls yach Hkqtk Kkr dhft,A
(a) BC (b) AB
(c) AC (d) buesa ls dksÃ ugÈ

22. fuEufyf[kr esa ls dkSu lcls cM+k gS \

(a) 
2

3
(b) 

4

7

(c) 
3

5
(d) 

1

15
23. ,d d{kk esa dqy 36 Nk= gSaA ;fn d{kk ls rhu&pkSFkkÃ Nk=

ijh{kk ns jgs gSa] rks fdrus Nk= ijh{kk ugÈ ns jgs gSa \

(a) 9 (b) 12
(c) 24 (d) 27

24. feLVj ijQsDV çfr ekg 54000 #i;s dekrs gSaA og viuh

dekÃ dk 
2

15
 fgLlk ?kj ds fdjk, ij] 

4

9
 fgLlk vU; ?kjsyw

lkeku ij [kpZ djrk gS vkSj ckdh dh cpr djrk gSA mldh
dekÃ esa cpr jkf'k dk fdruk va'k gS\

(a) 
19

45
(b) 

17

45

(c) 
13

24
(d) 

11

25

25. ,d ikuh dh cksry 
3

5
 Hkjh gqÃ gS vkSj mlesa ls 

1

7
 ikuh

fudy x;k gSA cksry esa fdruk ikuh cpk gS\

(a) 
16

35
(b) 

17

35

(c) 
8

17
(d) 

2

35
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26. Chlorophyll is present in special structures in the cells
called:-

(a) Xylem (b) Phloem
(c) Chloroplasts (d) nucleus

27. Human beings can be categorised as
(a) Parasite (b) Heterotrophs
(c) Saprotrophs (d) Autotrophs

28. Which of the following is an insectivorous plant ?
(a) Pitcher plant (b) Cuscuta

(c) Algae (d) Lichens
29. Photosynthesis will not occur in leaves in the absence

of
(a) Guard cells (b) Chlorophyll

(c) vacuole (d) Space between cells
30. What are the organisms called that synthesize their

food from inorganic materials ?
(a) Autotrophs (b) Heterotrophs
(c) Saprotrophs (d) Parasites

31. What is the process of breaking down food into
simpler substances called ?
(a) Ingestion (b) Digestion
(c) Absorption (d) Assimilation

32. Where does the digestion of proteins begin in
humans?
(a) Mouth (b) Stomach
(c) Small intestine (d) Large intestine

33. What type of animals are known as ruminants ?
(a) Those that chew cud

(b) Those that eat meat only
(c) Those that eat plants only
(d) Those that swallow food whole

26. DyksjksfQy dksf'kdkvksa esa fo'ks"k lajpukvksa esa ekStwn gksrk gS
ftUgsa dgk tkrk gS%&

(a) tkbye (b) ¶yks,e

(c) DyksjksIykLV (d) ukfHkd

27. euq"; dks bl çdkj oxÊ—r fd;k tk ldrk gS

(a) ijthoh (b) fo"keiks"kh
(c) er̀iks"kh (d) Loiks"kh

28. fuEufyf[kr esa ls dkSu lk dhVHk{kh ikSèkk gS \

(a) fipj IykaV (b) dqldqVk

(c) 'kSoky (d) ykbdsu

29. ifÙk;ksa esa çdk'k la'ys"k.k fdldh vuqifLFkfr esa ugÈ gksxk

(a) j{kd dksf'kdk,¡ (b) DyksjksfQy

(c) fjfädk (d) dksf'kdkvksa ds chp dk LFkku

30. mu thoksa dks D;k dgrs gSa tks vdkcZfud inkFkks± ls viuk
Hkkstu la'ysf"kr djrs gSa \

(a) Loiks"kh (b) fo"keiks"kh

(c) er̀iks"kh (d) ijthoh

31. Hkkstu dks ljy inkFkks± esa rksM+us dh çfØ;k dks D;k dgrs gSa\

(a) varxzZg.k (b) ikpu

(c) vo'kks"k.k (d) vkRelkr

32. euq";ksa esa çksVhu dk ikpu dgk¡ ls 'kq: gksrk gS \

(a) eq¡g (b) isV

(c) NksVh vkar (d) cM+h vkar
33. fdl çdkj ds tkuojksa dks tqxkyh djus okys tkuoj dgk

tkrk gS \

(a) os tks tqxkyh djrs gSa

(b) os tks dsoy ekal [kkrs gSa

(c) os tks dsoy ikSèks [kkrs gSa

(d) os tks Hkkstu dks iwjk fuxy tkrs gSa

SCIENCE
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34. Where is bile stored ?
(a) Liver (b) Gall bladder
(c) Stomach (d) Pancreas

35. What is tooth decay primarily caused by ?
(a) Acids produced by bacteria

(b) Swallowing too quickly
(c) Eating too much protein

(d) Lack of saliva
36. Which part of the digestive system is involved in the

absorption of nutrients ?
(a) Stomach (b) Small intestine
(c) Large intestine (d) Esophagus

37. What are the main steps of nutrition in humans ?
(a) Ingestion, digestion, absorption, assimilation,
egestion
(b) Ingestion, respiration, absorption, assimilation,
egestion
(c) Ingestion, digestion, respiration, assimilation,
egestion

(d) Ingestion, digestion, absorption, respiration,
egestion

38. The largest gland in our body is:
(a) Liver (b) Salivary gland

(c) Pancreas (d) Gallbladder
39. The correct way of making a solution of acid in water

is to
(a) add water to acid
(b) add acid to water

(c) mix acid and water simultaneously
(d) add water to acid in a shallow container

34. fiÙk dgk¡ laxzfgr gksrk gS \

(a) ;—r (b) fiÙkk'k;
(c) isV (d) vXU;k'k;

35. nk¡rksa dh lM+u eq[; :i ls fdlds dkj.k gksrh gS\

(a) cSDVhfj;k }kjk mRikfnr ,flM

(b) cgqr tYnh fuxyuk

(c) cgqr vfèkd çksVhu [kkuk

(d) ykj dh deh

36. ikpu ra= dk dkSu lk Hkkx iks"kd rRoksa ds vo'kks"k.k esa
'kkfey gS \

(a) isV (b) NksVh vkar

(c) cM+h vkar (d) xzkluyh

37. euq";ksa esa iks"k.k ds eq[; pj.k D;k gSa \

(a) varxzZg.k] ikpu] vo'kks"k.k] vkRelkr] mRltZu

(b) varxzZg.k] Üolu] vo'kks"k.k] vkRelkr] mRltZu

(c) varxzZg.k] ikpu] Üolu] vkRelkr] mRltZu

(d) varxzZg.k] ikpu] vo'kks"k.k] Üolu] mRltZu

38. gekjs 'kjhj esa lcls cM+h xzafFk gS%

(a) ;—r (b) ykj xzafFk

(c) vXU;k'k; (d) fiÙkk'k;
39. ikuh esa vEy dk ?kksy cukus dk lgh rjhdk gS

(a) vEy esa ikuh feykuk

(b) ikuh esa vEy feykuk

(c) vEy vkSj ikuh dks ,d lkFk feykuk

(d) mFkys crZu esa vEy esa ikuh feykuk
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40. On adding phenolphthalein indicator to a colourless
solution, no change is observed. The nature of the
solution may be
(a) acidic or basic (b) basic

(c) acidic or neutral (d) basic or neutral
41. Which acid is involved in an ant bite ?

(a) Lactic acid (b) Hydrochloric acid
(c) Formic acid (d) Citric acid

42. What is the primary component of antacid ?

(a) Magnesium hydroxide
(b) Sodium hydroxide

(c) Calcium hydroxide
(d) Ammonium hydroxide

43. What is the nature of lime water ?
(a) Acidic (b) Basic
(c) Neutral (d) None of the above

44. Which of the following is a neutral solution ?
(a) Lemon juice (b) Milk of magnesia

(c) Distilled water (d) Vinegar
45. Which acid is found in oranges ?

(a) Acetic acid (b) Formic acid

(c) Citric acid (d) Tartaric acid
46. A beggar wrapped himself with a few layers of

newspaper on a cold winter night. This helped him to
keep himself warm because
(a) friction between the layers of newspaper produces
heat.
(b) air trapped between the layers of newspaper is a
bad conductor of heat.
(c) newspaper is a conductor of heat.

(d) newspaper is at a higher temperature than the
temperature of the surrounding.

40. jaxghu ?kksy esa fQuksyQFksfyu lwpd feykus ij dksÃ ifjorZu
ugÈ ns[kk tkrk gSA ?kksy dh ç—fr gks ldrh gS
(a) vEyh; ;k {kkjh; (b) {kkjh;

(c) vEyh; ;k mnklhu (d) {kkjh; ;k mnklhu

41. pÈVh ds dkVus esa dkSu lk vEy 'kkfey gksrk gS \

(a) ySfDVd ,flM (b) gkbMªksDyksfjd ,flM

(c) Q‚Æed ,flM (d) lkbfVªd ,flM

42. ,aVkflM dk çkFkfed ?kVd D;k gS \

(a) eSXuhf'k;e gkbMª‚DlkbM

(b) lksfM;e gkbMª‚DlkbM

(c) dSfY'k;e gkbMª‚DlkbM

(d) veksfu;e gkbMª‚DlkbM

43. pwus ds ikuh dh ç—fr D;k gS \

(a) vEyh; (b) {kkjh;

(c) mnklhu (d) mijksä esa ls dksÃ ugÈ

44. fuEufyf[kr esa ls dkSu lk mnklhu foy;u gS \

(a) uÈcw dk jl (b) eSXusf'k;k dk nwèk

(c) vklqr ty (d) fljdk

45. larjs esa dkSu lk vEy ik;k tkrk gS \

(a) ,flfVd ,flM (b) Q‚Æed ,flM

(c) lkbfVªd ,flM (d) VkVZfjd ,flM

46. ,d fHk[kkjh us lÆn;ksa dh BaMh jkr esa [kqn dks v[kckj dh dqN
ijrksa ls yisV fy;kA blls mls [kqn dks xeZ j[kus esa enn
feyh D;ksafd

(a) v[kckj dh ijrksa ds chp ?k"kZ.k ls xeÊ iSnk gksrh gSA

(b) v[kckj dh ijrksa ds chp Qalh gok Å"ek dh dqpkyd
gksrh gSA

(c) v[kckj Å"ek dk lqpkyd gksrk gSA

(d) v[kckj dk rkieku vklikl ds rkieku ls vfèkd gksrk
gSA
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47. In given fig. (a-d) shows a student reading a doctor's
thermometer. Which of the figure indicates the
correct method of reading temperature ?

(a) a (b) b
(c) c (d) d

48. Which of the following thermometers has a kink ?
(a) Laboratory thermometer

(b) Clinical thermometer
(c) Both (a) and (b)
(d) Digital thermometer

49. Heat transfer that does not require a medium is
called?
(a) Conduction (b) Convection
(c) Radiation (d) Reflection

50. Which part of the clinical thermometer contains
mercury ?
(a) The tube (b) The scale
(c) The bulb (d) The cap

47. fn, x, fp= (a-d) esa ,d Nk= M‚DVj dk FkekZehVj i<+rk
gqvk fn[kk;k x;k gSA dkSu lh vk—fr rkieku i<+us dh lgh
fofèk dks n'kkZrh gS \

(a) a (b) b
(c) c (d) d

48. fuEufyf[kr esa ls fdl FkekZehVj esa eksM+ gksrk gS \

(a) ç;ksx'kkyk FkekZehVj

(a) fDyfudy FkekZehVj

(c) (a) vkSj (b) nksuksa
(d) fMftVy FkekZehVj

49. Å"ek LFkkukarj.k ftlds fy, fdlh ekè;e dh vko';drk
ugÈ gksrh gS] mls D;k dgrs gSa \

(a) pkyu (b) laogu

(c) fofdj.k (d) ijkorZu

50. fDyfudy FkekZehVj ds fdl Hkkx esa ikjk gksrk gS \

(a) Vîwc (b) Ldsy

(c) cYc (d) dSi
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SOCIAL SCIENCE
51. ______ minerals are found in the continental masses

(a) Silica and alumina (b) Silica and magnesium

(c) Nickel and iron (d) Silica and iron

52. Atmosphere is

(a) It is the liquid crust or the hard top layer of the
earth

(b) It is the thin layer of air that surrounds the earth

(c) It is the thick layer of air that surrounds the earth

(d) It is the solid crust or the hard top layer of the
earth

53. What is the radius of the earth?

(a) 3671 km (b) 7163 km

(c) 6371 km (d) 1736 km

54. Where is the deepest mine in the world located ?

(a) South America (b) South Africa

(c) South India (d) South Australia

55. The steep rocky coast rising almost vertically above
sea water is called

(a) Sea arches (b) Sea cliff

(c) Sea caves (d) Stacks

56. Large deposits of loess is found in

(a) Japan (b) Pakistan

(c) India (d) China

57. When persons are treated unequally, what is
violated?

(a) Dignity (b) Religion

(c) Caste (d) Practice

51. ------------- [kfut egk}hih; æO;eku esa ik, tkrs gSa

(a) flfydk vkSj ,Y;wfeuk (b) flfydk vkSj eSXuhf'k;e

(c) fudy vkSj yksgk (c) flfydk vkSj yksgk

52. ok;qeaMy gS

(a) ;g i`Foh dh rjy ijr ;k dBksj Åijh ijr gS

(b) ;g i`Foh ds pkjksa vksj gok dh iryh ijr gS

(c) ;g i`Foh ds pkjksa vksj gok dh eksVh ijr gS

(d) ;g i`Foh dh Bksl ijr ;k dBksj Åijh ijr gS

53. i`Foh dh f=T;k fdruh gS \

(a) 3671 fdeh (b) 7163 fdeh

(c) 6371 fdeh (d) 1736 fdeh

54. nqfu;k dh lcls xgjh [knku dgk¡ fLFkr gS \

(a) nf{k.k vesfjdk (b) nf{k.k vÝhdk

(c) nf{k.k Hkkjr (d) nf{k.k v‚LVªsfy;k

55. leqæ ds ikuh ls yxHkx yacor Åij mBus okys [kM+h pêkuh
rV dks dgk tkrk gS

(a) leqæh esgjkc (b) leqæh pêku

(c) leqæh xqQk,¡ (d) <sj

56. yks,l ds cM+s HkaMkj dgk¡ ik, tkrs gSa

(a) tkiku (b) ikfdLrku

(c) Hkkjr (d) phu

57. tc O;fä;ksa ds lkFk vleku O;ogkj fd;k tkrk gS rks
fdldk mYya?ku gksrk gS \

(a) xfjek (b) èkeZ

(c) tkfr (d) vH;kl
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58. It states that every adult in a country, irrespective of
their wealth and the communities she/he belongs
to, has one vote

(a) Universe Adulthood Franchise

(b) Universe Adult Franchisezes

(c) Universal Adult Franchisezes

(d) Universal Adult Franchise

59. A disease that attacks a large no. Of people in an area
at the same time is called

(a) Epidemic

(b) Germs disease

(c) Communicable disease

(d) Non - communicable disease

60. What does PHC mean ?

(a) Private Health Centre (b) Public Health Court

(c) Primary health Centre ( d)All of these

61. Costa Rican government believes that a country has

(a) to be healthy for its development and pays a lot of
attention to the health of its people

(b) to be wealthy for its development and pays a lot
of attention to the earning more profit by way export

(c) to spent money on political activities

(d) to spend money on military to increase their
power

62. The state of Himachal Pradesh is divided into ___
assembly constituencies

(a) 26 (b) 54

(c) 48 (d) 68

58. ;g crkrk gS fd fdlh ns'k esa çR;sd o;Ld] pkgs mldh
laifÙk vkSj og ftl leqnk; ls lacafèkr gks] mlds ikl ,d
oksV gS

(a) ;wfuolZ ,MYVgqM ÝSapkbt+

(b) ;wfuolZ ,MYV ÝSapkbt+

(c) ;wfuolZy ,MYV ÝSapkbt+

(d) ;wfuolZy ,MYV ÝSapkbt+

59. ,d chekjh tks cM+h la[;k esa yksxksa ij geyk djrh gSA ,d
gh le; esa fdlh {ks= esa yksxksa dh la[;k dks dgk tkrk gS

(a) egkekjh

(b) jksxk.kq jksx

(c) laØked jksx

(d) xSj&laØked jksx

60. PHC dk D;k vFkZ gS \

(a) futh LokLF; dsaæ (b) lkoZtfud LokLF; U;k;ky;

(c) çkFkfed LokLF; dsaæ (d) ;s lHkh

61. dksLVk fjdu ljdkj dk ekuuk gS fd ,d ns'k dks

(a) vius fodkl ds fy, LoLFk gksuk pkfg, vkSj vius yksxksa
ds LokLF; ij cgqr è;ku nsuk pkfg,

(b) vius fodkl ds fy, le`) gksuk pkfg, vkSj fu;kZr ds
ekè;e ls vfèkd ykHk dekus ij cgqr è;ku nsuk pkfg,

(c) jktuhfrd xfrfofèk;ksa ij iSlk [kpZ djuk pkfg,

(d) viuh 'kfä c<+kus ds fy, lsuk ij iSlk [kpZ djuk pkfg,

62. fgekpy çns'k jkT; dks -------- foèkkulHkk {ks=ksa esa foHkkftr
fd;k x;k gS

(a) 26 (b) 54

(c) 48 (d) 68
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63.The fourteenth-century chronicler ZiyauddinBarani
wrote his chronicle first in _____.

(a) 1256 (b) 1556

(c) 1456 (d) 1356

64. Who coined the term Hindustan in the thirteenth
century ?

(a) Al-Idrisi (b) Babur

(c) Akbar (d) Al-Rasid

65. Chahamanas ruled over the

(a) Delhi and MP (b) Delhi and Gujarat

(c) Delhi and UP (d) Delhi and Ajmer

66. Settlements of peasants, known as____ , became
prosperous with the spread of irrigation agriculture

(a) Uzi (b) Ur

(c) Uri (d) Udi

67. Who was the founder of the Chola kingdom?

(a) Simhavishnu (b) Vijayalaya

(c) Rajendra (d) Krishna

68._________, the lands adjacent to a city or port that supply
it with goods and services.

(a) Garrison (b) Doab

(c) Hinterland (d) Delta

69. What was the period of rule of Qutb-ud-din Aibak?

(a) 1206 - 1210 A.D. (b) 1208 - 1212 A.D.

(c) 1210 - 1214 A.D. (d) 1220 - 1225 A.D.

70. What is the time of rule of Ananga Pala ?

(a) 1165 to 1192 (b) 1200 to 1165

(c) 1130 to 1145 (d) 1175 to 1192

63. pkSngoÈ 'krkCnh ds bfrgkldkj ft;kmíhu cjuh us viuk
bfrgkl lcls igys ------- esa fy[kk FkkA

(a) 1256 (b) 1556

(c) 1456 (d) 1356

64. rsjgoÈ 'krkCnh esa ÇgnqLrku 'kCn fdlus x<+k Fkk\

(a) vy&bnjhlh (b) ckcj

(c) vdcj (d) vy&jlhn

65. pkgekuksa us 'kklu fd;k

(a) fnYyh vkSj eè; çns'k (b) fnYyh vkSj xqtjkr

(c) fnYyh vkSj mÙkj çns'k (d) fnYyh vkSj vtesj

66. ÇlpkÃ —f"k ds çlkj ds lkFk fdlkuksa dh cfLr;k¡] ftUgsa ---
----- ds uke ls tkuk tkrk gS] le`) gks xb±

(a) mth (b) mj

(c) mjh (d) mnh

67. pksy lkezkT; ds laLFkkid dkSu Fks \

(a) Çlgfo".kq (b) fot;ky;

(c) jktsaæ (d) —".k

68. ----------------- fdlh 'kgj ;k canjxkg ds vkl&ikl dh Hkwfe tks
mls eky vkSj lsokvksa dh vkiwÆr djrh gSA

(a) xSjhlu (b) nksvkc

(c) ÇgVjySaM (d) MsYVk

69. dqrqcqíhu ,scd ds 'kklu dk dky D;k Fkk \

(a) 1206 - 1210 A.D. (b) 1208 - 1212 A.D.

(c) 1210 - 1214 A.D. (d) 1220 - 1225 A.D.

70. vuax iky ds 'kklu dk le; D;k gS \

(a) 1165 to 1192 (b) 1200 to 1165

(c) 1130 to 1145 (d) 1175 to 1192
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ENGLISH
71. Choose appropriate article for the given sentence:

Copper is ____ useful metal used for various purposes
for ages.

(a) no article (b) the

(c) a (d) More than one of the above

72. __________ of the candidates pass this exam.

(a) Enough (b) Fewer

(c) Either (d) More

73. __________ of the deadlines is met.

(a) Neither (b) No

(c) None (d) Much

74. Choose the correct form of tense for the given
sentence:

He ______ with us tomorrow.

(a) will came (b) will come

(c) will comes (d) More than one of the above

75. Fill in the blank with the correct option.

The jury _______ its verdict in favor of the victim.

(a) has given (b) have given

(c) given (d) More than one of the above

76. This problem __________ by your brother yesterday.

(a) Was solved (b) Is solved

(c) Will be solved (d) Solves

77. This job ___________ by my friend next week.

(a) Is done (b) Did

(c) Will be done (d) Was done

78. She made a beautiful dog. (Choose Passive)

(a) beautiful dog was made for her.

(b) A beautiful dog was made by she.

(c) A beautiful dog was made by her.

(d) a beautiful dog is made by her.

79. _____ you need my help, come and see me.

(a) Unless (b) If

(c) Although (d) After

80. I hate Math _____ Physics.

(a) As well (b) Too

(c) Also (d) as well as

81. Fill in the blanks with most suitable determiner.
………………… books are missing from the library.

(a) A (b) Any

(c) This (d) Some

82. ……………… answer is correct.

(a) Many (b) Neither

(c) Few (d) What

83. He ……… (write) to me every month.

(a) is writing (b) writes

(c) has been writing (d) has been writing

84. How …….. you ……… (get) on with your studies ?

(a) is, get (b) do, get

(c) is, getting (d) have, got

85. Where …….. he …….. (go) to play in the evening?

(a) did, go (b) has, gone

(c) does, go (d) does, going
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86. Select the option that expresses the given sentence
in passive voice.

You have adopted the plan.

(a) The plan should be adopted by you.

(b) The plan is adopted by you.

(c) The plan has been adopted by you.

(d) More than one of the above

87. Select the option that expresses the given sentence
in passive voice.

Who teaches her geography?

(a) By who geography is taught to her?

(b) By whom she is taught geography?

(c) By whom is she taught geography?

(d) More than one of the above

88. Fill in the blank with the appropriate word:

This is surely _______ unique situation.

(a) a (b) one

(c) an (d) More than one of the above

89. Parts of the following sentence have been given as
options. Select the option that contains an error.

An university is a great place for learning and teaching

(a) an university (b) for learning

(c) is a great place (d) and teaching

90. The following sentence has been divided into parts.
One of them may contain an error.

Select the part that contains the error from the given
options. If you don’t find any error, mark

‘No error’ as your answer.There is a very little time /
for them to prepare / for the show.

(a) for them to prepare

(b) for the show

(c) There is a very little time

(d) No error
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MAT
91. Arrange these words in alphabetical order

1. Globe 2. Group

3. Glitch 4. Gap

(a) 1, 2, 3, 4 (b) 3, 4, 1, 2

(c) 4, 3, 2, 1 (d) 4, 3, 1, 2

92. If arrange these words in reverse alphabetical order ,

which is comes at second place.

1. Train 2. Topper

3. Tingling 4. Tumbler

(a) Tumbler (b) Tingling

(c) Topper (d) Train

93. If arrange these words in alphabetical order which is

comes at second place .........

1. Two 2. Three

3. Four 4. One

(a) Two (b) Three

(c) One (d) Four

94. ABB, BCF, CDL, ?

(a) ADK (b) DET

(c) DEM (d) DEP

95. A, D, I, P, ?

(a) Q (b) R

(c) Z (d) Y

96. 46, 50, 47, 55, 49, 61, ?

(a) 54 (b) 52

(c) 57 (d) 51

91. bu 'kCnksa dks o.kZekyk Øe esa O;ofLFkr djsa

1. Globe 2. Group

3. Glitch 4. Gap

(a) 1, 2, 3, 4 (b) 3, 4, 1, 2

(c) 4, 3, 2, 1 (d) 4, 3, 1, 2

92. ;fn bu 'kCnksa dks mYVs o.kZekyk Øe esa O;ofLFkr djsa] rks nwljs

LFkku ij dkSu&lk vk,xk\

1. Train 2. Topper

3. Tingling 4. Tumbler

(a) Tumbler (b) Tingling

(c) Topper (d) Train

93. ;fn bu 'kCnksa dks o.kZekyk Øe esa O;ofLFkr djsa] rks nwljs

LFkku ij dkSu&lk vk,xk\

1. Two 2. Three

3. Four 4. One

(a) Two (b) Three

(c) One (d) Four

94. ABB, BCF, CDL, ?

(a) ADK (b) DET

(c) DEM (d) DEP

95. A, D, I, P, ?

(a) Q (b) R

(c) Z (d) Y

96. 46, 50, 47, 55, 49, 61, ?

(a) 54 (b) 52

(c) 57 (d) 51
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97. 3, 7, 23, 95, ?

(a) 575 (b) 479

(c) 128 (d) 162

98. If 'p' means '×', 'R' means '+' and 'S' means '-', then

15 P 3 R 5 S 2 S 4 R 26 = ?

(a) 60 (b) 70

(c) 46 (d) 47

99. If  '×' means '-', '+' Means '÷', '-' means '×', and '÷' means

'+' then-

15 - 2 ÷ 900 + 90 × 100 = ?

(a) 190 (b) 180

(c) 0 (d) none of these

100. 11, 13, 17,  ? , 31, 41

(a) 19 (b) 23

(c) 29 (d)31

97. 3, 7, 23, 95, ?

(a) 575 (b) 479

(c) 128 (d) 162

98. ;fn 'P' dk vFkZ '×', 'R' dk vFkZ '+' vkSj 'S' dk vFkZ '-' gS] rks

15 P 3 R 5 S 2 S 4 R 26 = ?

(a) 60 (b) 70

(c) 46 (d) 47

99. ;fn '×' dk vFkZ '-', '+' dk vFkZ '÷', '-' dk vFkZ '×' vkSj '÷' dk

vFkZ '+' gS rks&

15 - 2 ÷ 900 + 90 × 100 = ?

(a) 190 (b) 180

(c) 0 (d) buesa ls dksbZ ugha

100. 11, 13, 17,  ? , 31, 41

(a) 19 (b) 23

(c) 29 (d)31


